REGENERATION IN COLOMBIA.

1. Complete each space with ONE word.

a. The leader of the liberals was the president

b. The leader of the conservators was

c. The constitution of Rionegro was between -

d. The characteristics of the regeneration are
economical and

e. The economical characteristic means there is a

2. Answer the following questions.

a. What is the regeneration?

b. What was the objective of the regeneration?

c. What did the regeneration cause?

and

d. What are the characteristics of the constitution of 18867
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